DESIGN CRITERIA:

APPLICABLE CODES, REGULATIONS & STANDARDS

1. THE 2020 FLORIDA BUILDING CODE, SPECIFICALLY CHAPTER 16
STRUCTURAL DESIGN, CHAPTER 20 ALUMINUM & CH. 23 WOOD.

2. AA ASM 35 & SPECIFICATIONS FOR ALUMINUM STRUCTURES,
PART 1-A OF THE ALUMINUM DESIGN MANUAL PREPARED BY
THE ALUMINUM ASSOCIATION, INC. WASHINGTON D.C. 2005 ED.

3. ASCE 7-16 & SE17

4. NDS NATIONAL DESIGN SPECIFICATION FOR WOOD.

5. ACI318 CONCRETE REFERENCE MANUAL.

WIND LOADS:

1. BUILDING OCCUPANCY CATEGORY, PARAGRAPH 1604.5 & TABLE
1604.5: RISK CATEGORY 1.

2. BASIC WIND SPEED, TABLE 1609C, STATE OF FLORIDA DEBRIS
REGION & BASIC WIND SPEED, PARAGRAPH 1609.3.1 & TABLE
1609.3.1 EQUIVALENT BASIC WIND SPEED: 150
MPH EXPOSURE CATEGORY, PARAGRAPH 1609.4.3: C

3. WIND LOADS PER FBC TABLE 2002.4 (MWFRS)

VULT = 150 MPH & EXPOSURE = C

FOR 20 X 20 X 0.013" MESH SCREEN

HORIZONTAL PRESSURES ON WINDWARD SURFACES = 43 PSF
HORIZONTAL PRESSURES ON LEEWARD SURFACES = _ 34 PSF
VERTICAL PRESSURES ON SCREEN SURFACES = __12PSF
VERTICAL PRESSURES ON SOLID SURFACES = 36 PSF
FOR 18 X 14 X 0.013" MESH SCREEN, APPLIED FACTOR = .88
FOR ALLOWABLE STRESS DESIGN, APPLIED FACTOR = 6

FOUNDATION DESIGN:

FOOTING SIZE EXISTING CONCRETE SLAB. NO ADDITIONAL FOOTING
OR FOUNDATION SYSTEM IS REQUIRED BY THE PROPOSED
CONSTRUCTION IF A MINIMUM 4" CONCRETE SLAB IS PROVIDED IN
SOUND CONDITION, FREE FROM STRUCTURAL CRACKING, SPALLING
& OTHER DETERIORATION. EXISTING FOUNDATION/FOOTING UNDER
CONCRETE SLAB MINIMUM 8'x8" W/ (1) #5 BAR TO BE VERIFIED BY
CONTRACTOR. SEE TYPICAL FOOTING DETAILS FOR NEW FOOTING
DESIGN MINIMUM REQUIREMENTS.

MISCELLANEOUS:

1. SCREENED ENCLOSURES CONTAINING SWIMMING POOLS SHALL
COMPLY WITH THE APPLICABLE REQUIREMENTS OF FBC
R4501.17 RESIDENTIAL SWIMMING BARRIER REQUIREMENTS.

2. ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED ON A
MANUFACTURED HOME, TRAILER HOME, OR PRE-FAB HOME.
|IF THE EXISTING STRUCTURE IS ONE OF THESE, A SEPARATE 4TH
WALL SUPPORT SYSTEM IS SO TO BE ENGINEERED SO THAT NO
ADDITIONAL LOADING IS PLACED ON THE MANUFACTURED HOME.

FASTENER SPECIFICATIONS:

1. FASTENERS ARE REQUIRED TO BE SAE GRADE 2 OR BETTER
ZINC PLATED. (CONCRETE ANCHORS ARE TO BE TAPCONS
OR BETTER, INSTALLED TO MFG. SPECIFICATIONS)

2.1T1S THE OWNERS RESPONSIBILITY TO MAINTAIN THE SCREENS,
FASTENERS AND SCREENS TO MANUFACTURING SPECIFICATIONS.

3. WHERE WOOD DECK IS PRESENT USE 1/4" X 3-1/2" GALV. LAG
SCREWS IN LIEU OF MASONRY ANCHORS. UNLESS OTHERWISE
SPECIFIED.

4. 1"X2" NON STRUCTURAL MEMBERS ATTACHED TO HOST
A. FOR MASONRY/CONCRETE APPLICATION USE GALVANIZED
1/4" X 2-3/4" TAPCONS OR EQUAL AT 24" O.C. AND é" FROM ENDS
B. FOR WOOD APPLICATION USE #14 X 2-3/4" WOOD SCREW AT
24" O.C. AND 6" FROM ENDS.
C. FOR ALUMINUM APPLICATION USE #10 X 1-1/2" SMS OR TEK
SCREW AT 24" O.C. AND 6" FROM ENDS
D. WHERE 1"X2" INSTALLED THROUGHOUT AN "OPEN VIEW"
SPACING SHALL BE REDUCED TO 18" O.C. AND 6" FROM ENDS

RESPONSIBILITIES:

1. ALL SITE WORK SHALL BE PERFORMED BY A LICENSED
CONTRACTOR IN ACCORDANCE WITH APPLICABLE BUILDING
CODES, LOCAL ORDANANCES, AND THE ENGINEER SHALL
BE NOTIFIED OF ANY DISCREPANCIES.

2. FOR FASTENERS WHICH ARE NOT VISIBLE AFTER INSTALLATION,
THE CONTRACTOR SHALL VERIFY AND ENSURE INSTALLATION
HAS BEEN ACCOMPLISHED IN ACCORDANCE WITH
MANUFACTURERS SPECIFICATIONS AND IN ACCORDANCE WITH
THE ATTACHED DETAILS.

3. FOR "PICTURE WINDOW" MODIFICATION TO EXISTING SCREEN
ENCLOSURES, ALL OTHER "EXISTING SCREEN ENCLOSURE"
FEATURES ARE TO MEET THE TYPICAL DETAILS AS PROVIDED
IN THESE DETAILS. CONTRACTOR IS TO VERIFY & ASSURE
EXISTING SCREEN ENCLOSURE IS STRUCTURALLY SOUND.

4. CONTRACTOR TO PROVIDE NOA'S & INSTALL ALL MATERIALS
AS PER MANUFACTURER'S SPECIFICATIONS.

5. INTEGRITY OF EXISTING/ HOST STRUCTURE SHALL NOT BE
COMPROMISED WITH THE ATTACHMENT OF THE PROPOSED
STRUCTURE.

SHEET NO. DRAWING INDEX
S/01 GENERAL NOTES
$/02 PLAN/ ELEVATIONS
S/03 DETAILS
S/04 DETAILS
S/05 DETAILS
S/06 DETAILS

Allowable Stress 1s 21.2 ksi

3-D FINITE ELEMENT ANALYISIS PERFORMED
STRUCTURE COMPLIES w/ FBC 2020 7th EDITION

ST 2 84 56 28 00 28

PROPOSED MANSARD SCREEN ENCLOSURE
SEE FOUNDATION DESIGN SHEET-01

56

84

i

%,

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on any
electronic copies.

Digitally
No. 60102 /f:/éj ralg E
+ i - Gunderson
STATEOF..__%(Q,U\\\\:: Date,
"""" LSS 20221128

10:55:57 -05'00'

Kip, in, F

FLORIDA ENGINEERING LLC
4161 TAMIAMI TRAIL, UNIT 101
PORT CHARLOTTE, FLORIDA 33952

NS

(941) 391-5980

FLEng.com
Orders@FLEng.com

CA CERT. #30782

PROJECT NO. 2231436

CONTRACTOR:
BP SCREENS & OUTDOOR
SERVICES
1800 52ND TER SW
NAPLES,FL 34116

PROJECT ADDRESS:

DANG

3445 ATLANTIC CIR

BONITA SPRINGS, FL 34117

DESIGN DATE:

11/14/2022

REVISION 1:

DATE

REVISION 2: DATE

DRAWN BY:

SJ

SCALE:

NTS

SHEET:

01




SMB PER PLAN

1/8'X2'X2 XSURFACE LENGTH ANGLE E/S

V(" FASTEN ANGLE LEG TO CARRIER BEAM:
W/#14X9/16" SMS THROUGH ANGLE LEG
INTO BEAM-FASTEN ANGLE LEG TO SMB
%2 IN SIMILAR MANNER-SEE TABLE S-1 FOR
FOR SCREEN FASTENER QUANTITY.
ATTACHMENT) 1X2 (FOR SCREEN
+ 7 ATTACHMENT)
od |[do
oo oo =g
J < 5 J
R oo oo R r
I ool foo &%
-

END VIEW

TABLE S-1 -
SMB TO CARRIER
SCREWS

1x2
(FOR SCREEN
ATTACHMENT) -

SMB PER PLAN
SLOPED ORFLAT .

oo 7

CARRIER BEAM
PER PLAN

o

o

\

SIDE VIEW

1/8'X2'X2' XSURFACE LENGTH ANGLE E/S

FASTEN ANGLE LEG TO CARRIER BEAM
W/#14X9/16" SMS THROUGH ANGLE LEG
INTO BEAM-FASTEN ANGLE LEG TO SMB
IN SIMILAR MANNER-SEE TABLE S-1 FOR

FASTENER QUANTITY.

DETAIL BEAM ATTACHMENT TO CARRIER BEAM

CONNECTION SCALE: NTS

39'.3"

S S / /
/ L
1X2 ‘ ‘
S \
6X6X.125 6X6X.125 A |\
,
// \\
,
\
,
y
P
. //
g ) o
Q0 |n’ @) e (.)
:
o |E 2] S @
N > S S
> n . n
— o o
< y 3
X / >
// ~N
p
y
y
\\\ //
N y
\\ 7
N p
N
OX6X.125 6X6X.125
r ROZ.
X
N
// N
// \\\
s \
// \\
4 \.
// N,
// \\
// \\
4 \\ .
m .
™ [aa]
. O 18}
S 2N e
N =N =
N a N =
L SN = 2
~ — \\ > S
_! AN ~ ~ >
(o)} N N ~
— N N
N N
\\ \\
N N
N N
\\ \\
\\ \\
N N
\\ \\
< <
N N
\\ \\ /
\\\ \\\ //
6X6POST+1X2 B 6X6POST+1X2 ™| | /
< <
24'-0"

ALUMINUM SPECIFICATIONS:

1. ALUMINUM EXTRUSIONS SHALL BE 6005 T5 ALLOY UNLESS
OTHERWISE NOTED.
2. ALL SELF MATING BEAM SECTIONS ARE TO BE STITCHED WITH

W, & CUNDS .,

gy,

Digitally signed

>
&
> 3455
5 . 2238
. -EM%EEEE S - £ ., b Craia E
2 #12 SCREWS 6" FROM ENDS & 24" CENTER TO CENTER. St E8E SQYNCENSE S y Cralg
1X2+2X2 #10 SCREW 6" FROM ENDS & 12" CENTER TO CENETER. SoREe22 SO i
‘ e 0 @ 0l S 3. ROOF BRACING SHALL BE A MINIMUM 2'X2"X.050". oz°E8cg =7 % :*Z Gunderson
e 02 &2 X2 X2 & 4. THE MINIMUM NORMAL THICKNESS OF PROTECTOR PANELS | £% 65305 . = * ; .
5 © N5 2X2 TYP. (KICKPLATES) SHALL BE AN INDUSTRY STANDARD OF 0.024 S2inGLEE B SAEOF s Date:
g INCHES. 080T o202 2O --”Lomoh-"'&s‘
S TRANSOM WALL @ 5.6 5. VINYL AND ACRYLIC PANELS SHALL BE REMOVED WHEN SoebEps50  Sgotti ey 2022.11.28
WIND SPEEDS EXCEED 75 MPH PER FBC. ESQ05LE L STONAL B .
6. SCREEN MATERIAL SHALL BE 18/14 SCREEN UNLESS $v8%9855 e 10:56:01 -05'00
APPROVED BY FLORIDA ENGINEERING LLC. 2c2282%%
7.1"X2" & 1"X3" NON STRUCTURAL MEMBERS MAY BE USED £23288<23
. / INTERCHANGEABLY.
% g g RESIDENCE g 7 8. DOOR LOCATION MAY BE RELOCATED BY CONTRACTOR
IN THE FIELD. O~ o\ &
N~
HOST 12" O/H STRUCT. GUTTER :II ‘9 8 8
++
f HATCH/ SYMBOL LEGEND 0 — g =
- — o
I <t
“’5? Z HATCH INDICATES > Z <D( o)
© 7 <€
7 EXIST. STRUCTURE T - = g R
1 2X85MB NOTE: ALL MAY NOT APPLY m 108 _¢°
] — 1o EOD
ol < W< o S5
I ZX ;—°Y
o — — D gLL
S 1 2X8SMB (D_ I—S?\LIJ@
Z=0<10%
ol < o o] g g L JXWL 5
i : 2 = = W=go™ g
© o o S o = < S
~ ~ o~ o~ % < O
I 2X8SMB v ) |<_E 5
) | x
| o SIP AL, / 7 SR, // 7 0 E e 3
° © // RESIDENCE g HOUSE WALL O - O <
. _ <~
2X9SMB C.B HOST 12" O/H STRUCT. GUTTER 1X2 1X2 —l < 0o p
- Joe) J2e) [2a) J2e) / 4
e - 2 z 2 - 2 2 - g I .
‘ g 2 g 2 4 g g 2 / o 1% 2 e}
L < 3 < N N N < 3 / J al ©
~ N ~N > N N ~N =< = / m > T
| N o~ N / Q > = o / Z
P 2X2 TYP. S L] > & o ///
__" — \ wn 9 é l_
A K& \ E ﬁ O
—~ < \\\ N N ] LLl
ol § §\ =
\\ 6X6POST+1X2 6X6POST+1X2 g:)
——6-1" 6-1" 6-1" 6-1" 61612 61> 6-1° 61> — 24'-0" \\ a®
4 4 4
55
T - T
4'-0"MAX e \\\\ _ CARRIER BEAM
/ / R sme -
N AN _ P N~
\\ 2X10 SMB C.B. e \\ 2X10 SMB C.B. L ) [h'e -—
BT TR CARRIER ] =
N S N / BEAM & POST (@) o
R LN N ) \\ // n 1"x5"x3" WIDTH EXTRUDED GUTTER BRACKET D |
ol AN / / o~ L (THICKNESS OF LEG @ WOOD SCREW SHALL BE
T ~ AN // g // — — 0.125" MIN., LONG LEG SHALL BE 0.072" MIN.) '_ m Lo
S8 N X N 6 INTO GUTER LI STRAP & EACH LOCATION & MDPOINTS 2 = =
< N, e ﬁ \\\ e >4 POST X O U) © O U)
o . e 6 AN © o [h'd = O (D
AN e AN ~
N / N s < =Z
i / i / *j/Lf n WS =~
] / v o
97\ i ] . Ed)gi @ <Z(%
E AN > y Z 7 ‘ ~ 2\X\l S;\/IB CB ) T 2'x2'x1/8" ANGLE Lu Lu Z U)‘ ﬂ =l
“ 2X1Q'SMB C.B. , N 0 -B. , CUTTO FIT W/ o bt L XrON x =<
“ AN s “ N S (4) #14 SMS EACH LEG\ o e (2 #125Ms - r O W uw a <=
. S N % N y N L EACH SIDE TYP. (2) #14 WOOD SCREWS @ 1 [e) > 10 Q] -
N P N Y N s . s o f= SPACING @ EACH GUTTER BRACKET (=)} xoeno | < =z 0 =
s “ / . s “ s o Mo &(1)@18' O.C. MAX. ) Q o — <t
2 “ e “ N e N / MIN. EMBEDMENT SHALL BE 2 T LW o <« (@)
218 g 1 ENN—2Z T OmMm
ﬁ B N // \\ // ; N // N e g % 8
> \\ N // N // // >
2 P g 8 6X6 POST TO GUTTER CONNECTION o a
N TN © SCALE:N.TS. DESIGN DATE:  11/14/2022
) N 10T . o, S REVISION 1: DATE
27'-6" | 27'-6" REVISION2:  DATE SHEET:
55'-0" DRAWN BY: SJ O 2
SCALE: NTS




1"x2" FASTEN TO COL. (INTERNAL)
w/(2) #10x1-1/2" SMS, FASTEN TO
EAVE RAILS ABOVE w/#10 1-1/2" SMS

(2) #10x3" SMS INTO SCREW
BOSSES FOR EDGE MEMBER \
|

ALUMINUM MEMBERS DIMENSIONS:

HOLLOW SECTIONS
2x2:2"x2"x0.050"
2x3:2"x3"x0.050"

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not

Digitally

* Y E
STATE OF QL/;t/\\:: Date:

considered signed and sealed and
the signature must be verified on any

Ry signed by Craig
= E Gunderson

24" O.C. AND 6" WITHIN COL. _— @
2 x 4:2"x 4"x 0.050" 2 L e N
—T # 2% 5: 2" x 5" x 0.050" S ZQLiORISY  2022.11.28
TABLE 'D" .. e BEAM PER PLAN \ / 5 o 7, SIONAL B -l
| siopep orLan EDGE MEMBER 0 ® OPEN BACK SECTIONS 5 B 10:56:05 -05'00"
BEAM QTY/ SIZE EACH SIDE OR PURLIN 1x2:1"x 2" x 0.044" 5 o
1x3:1"x3"x0.045" S
2x3 wre12 % g \EDGE MEMBER SNAP SECTIONS
2x 4 (5)/ #12 BEAM PER PLAN ”ﬁgj#[;&f/\ OR PURLIN 2 x2 SNAP: 2" x 2" x 0.045" O — N S
2x5 5)/ #12 NOTCHED TO RECEIVE N 2 x 3 SNAP: 2'x 3" x 0.050" 1O 1 S
) COLUMNWITHIN BEAM —— — 2% 4 SNAP: 2" x 4"x 0.045" 1 O Q
2x6 (6)/ #12 SMS, (EACH SIDE) I~ BRACE |_ g ﬁ
; . INSTALL BRACE 0.0625" 6063-T6 FLAT PLATE
2x7 (7)/ #12 QTY/ SIZE PER TABLE "D TO CORNER ™| w/(8) #10x.75" SMS, MIN. .5" SELP MATlN.(.; (S.'.V\B) " " (D = %
EDGE DISTANCE, PLATE MAY BE 2x4SMB: 2" x 4" x 0.046" x 0.100 Z < o)
2x8 (8)/ #14 \ NOTCH PROFILE MAY VARY FASTENED INTERNALLY TO BRACE 2x5SMB:2"x 5"x0.050"x 0.11¢6" Z S o) £ <
2x9 (9)/ #14 TO PERMIT CORRECT # SMS 2 x 6 SMB: 2" x 6" x 0.050" x 0.120" = = £ 3
210 PURLIN 2x7 SMB: 2" x 7" x 0.055" x 0.120" X .Xo 3
X )/ #14 COLUMN PER PLAN 2 x 8 SMB: 2" x 8" x 0.072" x 0.224" w=O® 4
MAINTAIN MIN, OF 5/8" SEPERATION 2x9 SMB: 2'x 9"x 0.072" x 0.224" L < — % S 8’
FROM EDGE OF BEAM SMS O.C. 2x9(H) SMB:HQ X 9 X 0.082” X O.30§' D: LL. : 8 L
2x 10 SMB: 2" x 10" x 0.092" x 0.374 zZ = T g
—_ o O
DETAIL E - UPRIGHT TO BEAM DETAIL "D" - ROOF BRACING CONNECTION ALL MAY NOT APPLY (D — ||: (a0} LICJ Eé)
. . —~~
CONNECTION SCALE: NTS SCALE: NTS DETAIL A prd <§E 9 ; i @
L [}
=z 3
<35 8
DG
MINIMUM NUMBER OF TAPCONS INTO CONCRETE & ALUMINUM INTERNAL OR EXTERNAL DC — O
# 12 X 3/4" S.M.S. INTO UPRIGHT / EACH SIDE OF BEAM Rﬁ?g%ﬁ‘gég?ﬂgﬁh\’g%g i}%;g” O (o) n'd [ap]
THROUGH SECONDARY 2" X 2" X 0.125" ANGLES NI SEA T OR LPRIGHT o ke AL i — O A
(SEE BELOW) \ CLIPS MAYBE USED (4) #10x1-1/2" SMS INTO — <t o ™
2X4 S.M.B. (1) 1/4"X 2-1/4"S.S. TAPCON & (2) # 12 X 3/4"S.M.S. SCREW BOSSES LL ~
2X5S.M.B. (1) 1/4"X2-1/4"SS.TAPCON & (2) # 12 X 3/4"S.M.S. N
2X6 S.MB. (2) 1/4"X 2-1/4"S.S. TAPCON & (3) # 12 X 3/4" S.MS. T MEMBER wis) #10 S i e ‘ B | /
2X7 SM.B. (2) 1/4" X 2-1/4"S.S. TAPCON & (4) # 12 X 3/4"S.M.S. PENETRATION INTO SCREW BOSS OF ¥ :
2X8 SSM.B. (3) 1/4" X 2-1/4"S.S. TAPCON & (5) # 12 X 3/4" S.M.S. 2'x2" MEMBER - TYP. BOTH SIDES # ™ % O
2X9 S.M.B. (4) 1/4" X 2-1/4"S.S. TAPCON & (&) # 12 X 3/4' S.M.S. ‘ == \ // Z
2X10S.M.B. (5) 1/4"X 2-1/4"S.S. TAPCON & (7) # 12 X 3/4"S.M.S. -
2'x2" DOOR JAMB PURLIN ©)
y MEMBER - _
N L
3 \ )
1/8%2'%2'x ANGLE T SNAP SECTIONTYP. \ UPRIGHT, BEAM—SNAP,/ \ \ O
5032 H-32 ANGLE SELF MATING, OR HOLLOW ¥
(2) - #12 SMS INTO COLUMN \ 1"x2" O.B. BASE PLATE-TYP. / \\ o
1/4" MASONRY ANCHOR EACH \
ANGLE - EACH SIDE COL.\\ o o
° ° / | 5" REVEAL TYP. FASTEN HEADER w/(2) #10x3“/
| 14 MIN. CONG INTO SCREW BOSS OF HEADER DETAIL"C" - GIRT OR PURLIN TO BEAM
o @, Bt S ANCHOR EMBEDMENT OR POST DETAIL SCALE: NTS
ANCHOR EvBEDMENT | .+ g B[ EVETs ockTone. ALTERNATE HEADER CONNECTION
@ SECONDARY ANGLE P e Z-BAR TO COL/HEADER AT EACH
S T A s 2" MIN. INCREASE DISTANCE CORNER AND 18" O/C -
3000 PSI CONC. ‘ N SREATER THAN 2x4 2X2'x.063" - DIM. TO MATCH PURLIN 0 —
SLAB/ FTG. f SIZE RECEIVING CHANNEL e ~
6x6-10x10 WWM SIDE VIEW NOTE (2) #12 SMS INTERNAL TO EAVE RAIL ) <
OR FIBERMESH WHERE PAVERS ARE PRESENT USE 5/16" (3) #12 EACH SIDE INTO PURLIN ™
TAPCON XL (RED HEAD MFG.) MASONRY ALTERNATE BASE PLATE CONNECTION o —
ANCHORS TO PENETRATE UNDERLYING ATTACH 2x2" TO BASE PLATE [ T
CONCRETE FOOTING 2-1/4" [MIN,) (INTERNAL) w/(2) #10x2" SMS SR L 2 = =
1/4" MASONRY ANCHOR - o —_ ° |~ ¥ @) %) 9 O 8
AT EACH ANGLE v (2) - #12 SMS ATTACH BASE PLATE TO 2'x2" = o3 X o=
w/(2) #10x3" SMS INTO SCREW EAVE RAIL - SEE PLAN e » w3 ==
1/4' TAPCON XL (RED HEAD MFG. OR EQUAL) / BOSS OF BASE PLATE EXTRUSION i z “ zX
LRl %%;ﬁg?BSEEYOND) 1x2 OPEN BACK/ woAaL |é <
EXTRUSION /UPRIGHT W= p A |:1 2]
o . O x© <
- \ (2) #10x2" SMS THRU 1><2|NTO/ P EOosSw L_',J 8 o <=
a Be N S o B Y BASE PLATE ANCHORED EAVE RAIL EACH SIDE OF COLUMN E NDyon < zZz0=
s RS s ’ L ’ iau8g b 233
e LB 8 OF POST AND 24" O.C. MAX R L . . EON—-Z 4 Oom
< ., 1L L BT 1-1/4" CONC. EMBEDMENT TYP. > > . . _— 3 g
3000 PSI CONC. : - b} - ¢ - ° -
SLAB/ FTG. 1/4' TAPCON (RED HEAD MFG. OR EQUAL) WITHIN 6" OF DESIGN DATE: 11/14/2022
6x6-10x10 WWM I .
XOR FTBERMESH FRONT VIEW COLUMN 1-1/4" PENETRATION INTO UNDERLYING FOOTING DETAIL "G" - SLOPED PURLIN REVISION 1: DATE
DETAIL "B" - 2'x4" OR LARGER SELF MATING DETAIL °F - DOOR JAMB & HEADER CONNECTION  SCALE: NTS REVISION2: DATE | speeT:
UPRIGHT TO DECK DETAILS ~ SCALE: NTS CONNECTION SCALE: NTS ORAWNBY: Sy O 3
SCALE: NTS




GIRT FASTENED INTERNALLY AT EACH END
w/ #10x1.5" EACH SCREW GROOVE. FASTEN
TO BEAM w/ 2'x2"'x1/8" ANGLE (2) #12 SMS
INTO BEAM & (2) #10x1.5 THRU ANGLE INTO
GUTTER WHERE NO GIRT IS PRESENT, ATTACH
ANGLE DIRECTLY TO GUTTER

2'%2'x1/8" ANGLE
w/(2) #125Ms Y
EACH LEG

1"x5"x2" WIDTH EXTRUDED GUTTER BRACKET
(THICKNESS OF LEG @ WOOD SCREW SHALL BE
0.125" MIN., LONG LEG SHALL BE 0.072" MIN.)

@ EACH BEAM w/(2) #12x3/4" SMS @ 1" SPACING
INTO GUTTER LIP. FOR BEAMS ABOVE 2x8 INSTALL
GUTTER BRACE AT MIDPOINT BETWEEN BEAMS &
INCLUDE 2" GUTTER BRACE AT EACH BEAM
LOCATION.

EXISTING HOST STRUCTURE

(DESIGNED BY OTHERS)

(2) #14 WOOD SCREWS @ 1"
SPACING @ EACH GUTTER BRACKET
& (1) @ 18" O.C. MAX.

MIN. EMBEDMENT SHALL BE 2

.044 RECEIVING CHANNEL FASTEN TO STRUCTURAL GUTTER

ALTERNATELY 2x2x1/8" ANGLE BELOW GIRT, (2) #14 SMS INTO
BEAM & (2) #12 SMS INTO STRUCTURAL GUTTER

& @24"0O.C. MAX.\

i
o =
BEAM o
(2) #12 SMS
° dzm
o
Qa Qa
CLOSE BOTTOM OF/
BEAM WHEN TRIMMED
044 RECEIVING CHANNEL, FOR BEAM OVER 2x5
FASTEN w/(2) #12 SMS
AR W INTERNALLY W/ (2) #12 SMS
SIDE VIEW
OPTIONAL GIRT
#10 SMS WITHIN 6" \

FASTEN GUTTER TO
FASCIA w/ #14x2"
WOOD SCREW 18" O.C.

050" GUTTER STIFFNER
FASTEN TO FASCIA w(2)
#12x2" WOOD SCREW
FASTEN TO GUTTER w(2)
#12 SMS

GUTTER o
BRACE o

GUTTER
BRACE

o
o

WHEN BEAM & PURLIN
HIT ON CORNER -
FASTEN OUTSIDE OF
BEAM & PURLIN

w/ 1/8'x2'x2" ANGLE

& (4) #12 SMS EACH LEG

-

\ FASTEN INSIDE CORNER

(BEAM TO PURLIN)
w/ 1/8'x2'x2" ANGLE
w/(2) #12 SMS

INTO EA. MEMBER
(BEAM & PURLIN)

DETAIL "M" BEAM & PURLIN TO GUTTER

CONNECTION

SCALE: NTS

/(2) #12 SMS
=g -
O/ﬁufg? I
/ \(2) #14x2"
WOOD SCREW
2x2x1/8" ANGLE | @ 1" SPACING
EA. SIDE OF BEAM
w/(2) #12 SMS <
EACH LEG EACH SIDE ~| T Fascia (26" MIN. EXISTING)
[T STRUCTURAL
GUTTER
TOP VIEW
DETAIL "H" BEAM TO GUTTER
CONNECTION SCALE: NTS
I

NOTE F

INSTALL FASTENERS ALONG PERIMETER OF GUSSET
-BEAM JOINT 3/8" MIN, FROM EDGE. FASTENERS
MAY BE STAGGERED TO INSURE PROPER
QUANTITY PER TABLE B-1

FASTENER PATTERN MAY APPEAR DIFFERENT
FROM ILLUSTRATION.

MAINTAIN 1/2" SEPARATION BETWEEN FASTENERS.
MAINTAIN 3/8" MIN, FASTENER SEPARATION FROM
BEAM JOINT OR EDGE OF BEAM LAP

FASTENERS MAY BE EVENLY SPACED AROUND
EDGE OF GUSSET WITHIN 3/8" OF BEAM JOINT.
FASTENERS MAY BE STAGGERED TO INSURE
PROPER QUANTITY PER TABLE B-1

o o o j*O \
PRl
3/16"-5052-H32 GUSSET
INTERNAL OR EXTERNAL
2 x 10 SMB ILLUSTRATED
TABLE B-1
BEAM COL.TOBEAM | BEAM TO BEAM
SIE QTY SMs/ QTY SMS/
SIDE OF COL. EA. FACE/SIDE
2x 4 (5) #12 (9) #12
2x5 (5) #12 (9) #12
2x6 (7) #12 (9) #12
2x7 (10) #12 (10) #12
2x8 (12) #12 (14) #12
2x9 (14) #14 (14) #14
2x10 (16) #14 (15) #14

(2) #12

2'x2"'x1/8" ANGLE w/(2)
#12 SMS EA. LEG

(2) #14 WOOD SCREWS
sms INTO FASCIA
GIRT \
=T o]
o I

DETAIL "K" GUSSET CONNECTION
SCALE: NTS

[
SMB ° i N
o o GIRT
/ o o AN \\
1/8X2'%4  STRAP STRUCTURAL GUTTER
(2) #12 SMS INTO BEAM
(2) #12 SMS INTO GUTTER SIDE VIEW
- GIRT (2) GUTTER BRACES
] 7 EACH w/(2) #12 SMS
FASCIA INTO GUTTER & (2) #14
WOOD SCREWS INTO FASCIA
o| GUTTER
2'x2'x1/8" ANGLE w/(2) o BRACE s
#12 SMS EA. LEG
L (2) #12 SMS E W
| =
0&
SMB X
| ] | o o
1/8'x2"x4" STRAP GIRT
(2) #12 SMS INTO BEAM STRUCTURAL GUTTER
(2) #12 SMS INTO GUTTER
TOP VIEW
DETAIL "L" CORNER CONNECTION

SCALE: NTS

(9) #14x3/4" SMS

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on any
electronic copies.

\\\\\\\ll\iil//,///

&%, €. GUND,

Digitally signed

SR by Craig E
- Gunderson
5, Date:

OV 2022.11.28

10:56:09 -05'00'

1/8" PLATE ON 45° ANGLE
OR 1/8'x2'x2" ANGLE w/(4)
#12 SMS INTO EACH N\
INTERSECTING MEMBER o o/ o

PERIMETER
FRAMING\

I

EYEBOLT FOR
/ CABLE TENSION

1/8" STAINLESS STEEL
/BRAIDED CABLE

DETAIL "-2" CABLE CONNECTION

AT CORNER

40° MIN.
60° MAX.

SCALE: NTS

1/8" STAINLESS STEEL
BRAIDED CABLE

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

40° MIN.
60° MAX.

3" AS.T.M. A-36 STEEL CLIP

WITH (2) 3/8'x3" SLEEVE ANCHORS
FOR PAVERS (2) 1/4'x6" TAPCONS
THRU PAVERS INTO FOOTING

1/8" STAINLESS STEEL
/BRAIDED CABLE

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

40° MIN.
60° MAX.

3/8" DIA x 3" EMBED
CONC. SCREW ANCHOR
(TAPCON OR EQUAL)

1/8" STAINLESS STEEL
BRAIDED CABLE

3000 PSI CONC.
6x6-10x10
WWM OR FIBERMESH

1.5"5.5" ALUM. STRAP
w/(2) 3/8" DIA. x 3"
MASONRY ANCHOR
(TAPCON OR EQUAL)

DETAIL "I-1" CABLE CONNECTION
AT FOUNDATION SCALE: NTS

O~ N
o D S
1T o 2
= & .
O= 2 i
ZZ<DE o
i I — E 5
¥ -Xo §
W= Owx .
<_|CDEU>
L Lo oC
ZX .~ <y
(D_I—or)c
= W
Z=0<10%
w3+ e
=ro 3
<=< 5
NI S
D=0
DC\—|— (o)
Ocom o
93589 f
TR Q
N
%
@)
/// pa
|_
T
] 3
Y
\\ o
N~
o h
Q &
|
5 = 1
O »m<¥ 08
® oy Oz
w We EF
z =0 Zx
wonaom |» <
ww= =9 a0
S FONR |& E <
n:O—LQLIJD <
O > d1]/a O -
coE28E 2 292
<
T inXZ |3 aSm
P o
o X
o o
DESIGN DATE: 11/14/2022
REVISION 1: DATE
REVISION 2: DATE SHEET:
DRAWN BY: SJ
SCALE: NTS 04




(3) 3/8" DIA. MACHINE BOLTS
w/ WASHERS THRU

NOTE: FOR DOUBLE OR TRIPLE CARRIER
BEAM, OUTSIDE WEBS SHALL OVERLAP
4x4 POST OR NOTCH POST AS ABOVE

g,

Digitally signed

>
c
o ©
= .8=%5
o . <= O \
o c ok o] \ 1,
CARRIER BEAM & POST FOR éx6 POST. ALL CASES, CONNECT 2B E 22 e GUNDg 7, by Craia E
USING MACHINE BOLTS DECRIBED ABOVE. SgoL 58 ._.-'\'/\CENSé;-._}S‘%//// y Lraig
5588:2¢ 2
[} T 5SSO = K . =
7 - A 0585829 7 No60102
o i 2'2" FASTENED TO CARRIER c8cfESS = N : Gunderson
BEAM w/(2) #10x1-1/2" SMS INTO | —2x2%0.125" ANGLE 2 T°5373 2y ot H% D t .
o CARRIER BEAM SCREW BOSSES EACH END EACH SIDE TYP. (3) 3/8" DIA. MACHINE BOLTS SgUPZcED =R SATEOF s ate:
w/ WASHERS THRU 23T og oo Z,O«\'--._q NS
o CARRIER BEAM CARRIER BEAM & POST POST £g9g2@5338 7 &é}"gﬁ-\"'é\e\\\\\ 2022.11.28
EGB052T2 7,2 ION AL B
o O C C //,// \\\\\ 1 1
) ROOF BEAM (SLOPED OR FLAT) \ 2o ® 0550 M ‘LA -
a E e sBielels 10:56:13-0500
= 235 ogel
\]  MEMBER TO CARRIER BEAM Fa0588s0
'x2' MEM (2) 2'x__SMB
FOR SCREENING (SEE PAGE 2 ROSZ.,B/EQZ‘LTEOTEB'%EW/ E "~ [3) 3/8' DIA MACHINE BOLTS
|~ VARES FOR SIZE) w/ WASHERS THRU O — N
HORIZONTAL BEAM  (2) #14x1 SMS 12" O.C. - CARRIER BEAM & POST 10O o ~
ONITS SIDE STAGERED ROWS 0" MEMBER BEAM | QUANTITY/ SIZE EA. el 44 3
POST (IF REQUIRED) FOR SCREENING 3/4" SMS SEE TABLE FOR SIZE LEG TO BEAM TOP VIEW —I 1 p) T+
QUANTITY (TYP. EACH SIDE} — & =
O = o
3/4" SMS SEE TABLE FOR 2x4 |(4)#120R(2) #16 CARRIER BEAM Z < o)
ey i (o] n
3 £10x1-1/2° SMS @ 24,,// QUANTITY (TYP. EACH SIDE) 2x5 |(5) #120R (3) # 16 / Z 5 ) = 3
0.C. MAX CONNECTING /0 %6 = (&)
\ TO 1"x2" CARRIER BEAM NOTE: FOR DOUBLE OR TRIBLE CARRIER X (5] #120R (3) # 16 r . o o
o " 2" FOR SINGLE . CARRIER BEAM n . | O
2%20.125 . . BEAM, OUTSIDE WEBS SHALL OVERLAP 2x7 |(6) #14OR (4) # 16 o (3) 3/8" DIA. MACHINE BOLTS L O ® .
RECEIVING CHANNEL HORIZONTAL BEAM #10x1-1/2" SMS @ 24 4x4 POST OR NOTCH POST AS ABOVE W/ WASHERS THRU — 1o EOD
OR ANGLE EACH SIDE ﬁgg;&?gfﬁ O.C. MAX CONNECTING *j/ FOR 6x6 POST. ALL CASES, CONNECT 2x8 |(7) #140R (4) #16 CARRIER BEAM & POST LU < LW O E
PR OR TO 1°X2" POST USING MACHINE BOLTS DECRIBED ABOVE. | L
; x4 2Xx9 |(8) #140R (5) # 16 X -L©o
(6) #10x0.75" SMS R TRIPLE X (8) #14 OR (5) # 1 o " U= o
EACH SIDE HORIZONTAL 2% 10 / —_— o O
BEAM OR 6X6 x () #14 OR (6] # 16 (D o C
. (3) 3/8" DIA. MACHINE BOLTS —
D o by o ROOF BEAM TO CARRIER BEAM T WASHERS THR bOST == '5 ;:'-_IIJ g)
RECEIVING CHANNEL . e
O o] PACKT ANGLE CONNECTION DETAIL SCALE: NTS LL < E| g L o
e Retes ©
< = < =
FRONT VIEW Nk O
CARRIER BEAM TO POST DETAIL = O
SCALE: NTS CORNER CARRIER BEAM CONNECTION DETAIL I -
SCALE: NTS E 0 8
Ow©k 2
— ‘; a po
™
L N
MAY USE (5) #12-14x1" TEK MAY USE (5) #12-14x1" TEK o V
w3 oia ors T HEU OF THRUBOLTS IN'LIEU OF THRUBOLTS N HSIOE OF BEAM FASTENED o)
/4 ‘ . [4) /8" DIA. LDTS 1/82'x2" x LENGTH CUT TO FIT ANGLE W/ (4) #12x5/8" SMS TO BEAM
2 }Q‘;U”@gﬁgﬁﬁ?g%;\ o 2%‘; UA/l\Slgi'F(gAA%\EI.DE'\C/;EON;\ v EACH SIDE OF BEAM FASTENED (2) 1/4" TAPCON INTO HOUSE WALL // Z
ANGLE INTO CONC. ANGLE INTO CONG W/ (4) #12x5/8" SMS TO BEAM 2-1/4" EMBEDMENT MIN. ALTERNATELY —
sy : \© Ne) (4) #12x5/8" SMS @ 3/4" SPACING TO GUTTER. RECEIVER CHANNEL MAY BE USED IN O
WHERE GIRT PRESENT USE 1/8'x2'x2" ANGLE LIEU OF 1/8" ANGLE EA. SIDE < ‘ o
3) 3/8" DIA. MACHINE - 4 . y OVER GIRT AND CUTTO FIT BEOW GIRT. -
(3) B/O o/ WAGHERS (3) g/OSLT%I\f\v} I\\;\Vignllzl\égx i 4 FASTEN EACH LEG W/ (2) #12x5/8" SMS % § -
- SEE DETAIL "H" @)
1O "O FOR GUTTER Y
— — 2'x2" PERIMETER STIFFNER SPECS. o
3-3/4' FROM EDGE—_| 1 ) "
OF SLAB/ FTG. %S/SAL AFé?/OFI}/\GEDGE—\
. #4 EXISTING HOST STRUCTURE
K i DESIGNED BY OTHERS
X - ( )
TOP VIEW o =
@] géé ';(LD:,L TOP VIEW 6X6 POST L
. " DIA. PER PLAN
(3) 3/8" DIA. MACHINE / (3) g/cé)BLTQI@/A\;\VAACs::IENRE ° L ~
BOLTS w/ WASHERS ‘ X534 s
| - = N~
. ‘ LENGTH) ANGLE (4) 3/8" DIA. LDT'S ;
4) 3/8" DIA. LDTS ‘ ( . o ~
2174 NN EMBEBMENT | 7“NTERNAL) “ TRV BOTTOM (26 OF 2%6%0.125 ANGLE BEAM PER PLAN ° ° o ° o o | o) 5
THRU BOTTOM LEG OF ‘ ANGLE INTO CONG ° o) 3
ANGLE INTO CONC. = m : o A
Lan an . = = v d
K n L . N B -] = .
\ . e - L. . CLOSE TOP OF o (%co ow
. . 2 4 : SIDE VIEW BEAM WHEN TRIMMED - 0]
g . . E .
3000 PSI CONC. : ’ ‘. 3000 PSI CONC. r— - .t . 044 RE(%EXT'EL?@Z’?E?,\EALS o3 % A o=
SLAB/ FIG. 2 il . ' SLAB/FIG.— | «** . 4» . T EACH SIDE OF BEAM ) ™ Ex
o A e Soodly 2%
OR FIBERMESH &
FRONT VIEW FRONT VIEW L L % = 0 &
BEAM TO GUTTER/HOST CONNECTION . XOWN & o =<
6"x6" POST CONNECTION DETAIL 6"x6" POST CONNECTION DETAIL DETAIL SCALE: NTS o) 8 S©5l8 O '}() =
. =
(INTERNAL BASE) SCALE: N.T.S. SCALE: N.T.S. o rgo |2 Z2JZ
é o W& <|o <<« O
% o
x
s} a
NOTES:
1. 3x3 POST TO HAVE 3/8" RED HEAD - TRUBOLT WEDGE ANCHORS (STAINLESS STEEL, PROVIDE MINIMUM 2" FROM EDGE OF SLAB AND PROVIDE MINIMUM DESIGN DATE: 111412022
2" SPACING TO ANY OTHER CONNECTOR. SEE MFG. NOTES FOR INSTALLATION REQUIREMENTS. THREADED ROD REQUIRES 3" MINIMUM EDGE DISTANCE. :
2. 4x4 POST TO HAVE 1/2" RED HEAD - TRUBOLT WEDGE ANCHORS (STAINLESS STEEL, PROVIDE MINIMUM 3-3/4" FROM EDGE OF SLAB AND PROVIDE MINIMUM REVISION 1: DATE
3-3/4" SPACING TO ANY OTHER CONNECTOR. SEE MFG. NOTES FOR INSTALLATION REQUIREMENTS. REVISION2:  DATE SHEET:
3. WHERE PAVERS ARE PRESENT ANCHOR LENGTH SHALL BE INCREASED BY THICKNESS OF PAVER NOT TO EXCEED 2-1/2" FOR PAVER THICKNESS MORE THAN DRAWN BY: sJ
2-1/2" SPECIFICATIONS SHALL BE REQUIRED. PAVERS SHALL BE BONDED TO UNDERLYING CONCRETE FOUNDATION. SCALE. TS




2'X2" X1/8" ANGLE
X 10"LONG W/

EACH SIDETY

(9) #14 SMS PER LEG\
P.

(3)
w/
CAl

1/4" DIA. MACHINE BOLTS
3/4" DIA. WASHERS THRU
RRIER BEAM & POST

J POST
] ﬁ \

<

INT. BEAM INT. BEAM $
I & |
TOP VIEW
©
CARRIER BEAM (@} CARRIER BEAM
©
) |~ VARIES
(3) 1/4" DIA. MACHINE BOLTS
w/ 3/4" DIA. WASHERS THRU
CARRIER BEAM & POST
N\
©
INT. BEAM O INT. BEAM
©
2'X2" X1/8" ANGLE
(3) #14 SMS PER LEG
POST

7%7

INTERMEDIATE BEAM CONNECTION - |
SCALE: N.T.S.

i,

aW
N, & CUNDg

SR\
S Q_Y*_. \,\CENSS .

i

This item has been electronically
signed and sealed by Craig E
Gunderson, P.E. on date below
using a Digital Signature. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on any
electronic copies.

/s,

PR

Digitally signed
by Craig E

J
N
N
O

) Qos
»*Z GQunderson
R
=2: smreor &= Date:
2 AL RO RS
Roftonot S 2022.11.28

10:56:20 -05'00'

NOTE F

INSTALL FASTENERS ALONG PERIMETER OF GUSSET
-BEAM JOINT 3/8" MIN, FROM EDGE. FASTENERS
MAY BE STAGGERED TO INSURE PROPER
QUANTITY PER TABLE B-1

FASTENER PATTERN MAY APPEAR DIFFERENT
FROM ILLUSTRATION.

MAINTAIN 1/2" SEPARATION BETWEEN FASTENERS.
MAINTAIN 3/8" MIN, FASTENER SEPARATION FROM
BEAM JOINT OR EDGE OF BEAM LAP

FASTENERS MAY BE EVENLY SPACED AROUND
EDGE OF GUSSET WITHIN 3/8" OF BEAM JOINT.
FASTENERS MAY BE STAGGERED TO INSURE
PROPER QUANTITY PER TABLE B-1

2'X2" X1/8" ANGLE

X 10"LONG W/
(9) #14 SMS PER LEG

2X10 INT. BEAM
| \

_J I POST

AY
% INT. BEAM . . N
TOP VIEW
6X6 POST
!
3/16" EXTERNAL GUSSET W/
(15) #14 SMS TO 2X10 INT. BEAM
(12) #14TO 6X6 POST POST
£
A \
-~ INT. BEAM R R e e e
oL o l“O o © o
/ . /_,
2X10 INT. BEAM 2'X2" X1/8" ANGLE
(3) #14 SMS PER LEG POST
I
6X6POST/
FRONT VIEW
!

INTERMEDIATE BEAM CONNECTION - |
SCALE: N.T.S.

O~ N
o D S
1T o 2
= & .
O= 2 i
ZZ<DE o
i I — E 5
¥ -Xo §
W= Owx .
<_|CDEU>
L Lo oC
ZX .~ <y
(D_I—or)c
= W
Z=0<10%
w3+ e
=ro 3
<=< 5
NI S
D=0
DC\—|— (o)
Ocom o
93589 f
TR Q
N
%
@)
/// pa
|_
T
] 3
Y
\\ o
N~
o h
Q &
|
5 = 1
O »m<¥ 08
® oy Oz
w We EF
z =0 Zx
wonaom |» <
ww= =9 a0
S FONR |& E <
n:O—LQLIJD <
O > d1]/a O -
coE28E 2 292
<
T inXZ |3 aSm
P o
o X
o o
DESIGN DATE: 11/14/2022
REVISION 1: DATE
REVISION 2: DATE SHEET:
DRAWN BY: SJ
SCALE: NTS 06




		2022-11-28T10:55:57-0500
	Craig E Gunderson


		2022-11-28T10:56:01-0500
	Craig E Gunderson


		2022-11-28T10:56:05-0500
	Craig E Gunderson


		2022-11-28T10:56:09-0500
	Craig E Gunderson


		2022-11-28T10:56:13-0500
	Craig E Gunderson


		2022-11-28T10:56:20-0500
	Craig E Gunderson




